HEBILEAERS

F_SEHFN (BT +=FZFEMNIERER)
EANEBEETHES
(B) S#13FE4H18 (#) $#443H31H
(B4 : M)
BENE LEERE(A) HIEERE(B) =E(A)-(B)
NERIRBEINZ 2,166, 976, 359 2,189, 188, 593 22,212, 234
EABU BRI 123,733, 271 126, 188, 301 -2, 455,030
o [ |isEsmE BN 3,260, 000 3, 190, 000 70, 000
|| % | R RES eI 10, 000 925, 150 -915, 150
el oMoz 890, 780 516, 000 374, 780
2 | |o—exEsurasst (1) 2, 294,870, 410 2,320, 008, 044 —25, 137, 634
| [AE 1,524, 856, 194 1,507, 760, 388 17,095, 806
g| |BEH 348, 864, 085 343, 242,073 5,622,012
|, |FBHE 202,627,115 197, 442, 957 5,184, 158
o | & [FumsaEemns 366, 626 359, 309 7,317
B\ Fa | e 220, 601, 419 222,514, 692 -1,913,273
D |EEmTESSE RIS I -79, 637, 099 ~77, 888,573 ~1,748,526
& ZOMOEF 739, 780 324,120 415, 660
H-CPREBERAt (2) 2,218,418,120 2,193, 754, 966 24, 663, 154
H-CREBEREE (3) = (1) - (2) 76, 452, 290 126, 253,078 ~49, 800, 788
| [wAstsmbaz 4,264,220 4,512,020 —247,800
2 | R | S E SRR v 205, 892 323,486 ~117, 594
sz | 8 |20ty —EREESNES 6, 887, 589 7,855, 389 -967, 800
g || P-CREBIPREE (4) 11,357, 701 12, 690, 895 1,333, 194
o1 | 2 [S2IAIR 19,025, 547 20, 156, 746 —1,131,199
| Fg [EOAEOY —EREBS1 B 2,797,714 2,821,779 -24, 065
=" g-exEasERE (5) 21, 823, 261 22,978,525 —1, 155, 264
W [P EBINERERE (6) = (4) — (5) -10, 465, 560 -10, 287, 630 177, 930
BEEREE (7) = (3) + (6) 65, 986, 730 115, 965, 448 ~49, 978,718
MR B RS BN SN 6, 466, 000 25,591, 210 —19, 125, 210
R e 0 0 0
1y |EEAE =R 0 1,419, 000 -1, 419, 000
4 |BEEES N 5, 499 9,750 -4, 251
g | |- AR RHEA SN 0 0
gl |EofiossBIRas 1,539, 721 44, 841 1,494, 880
| [HERURESET (8) 8,011,220 27, 064, 801 —19, 053, 581
o | [EETEA 0 0 0
o| |BEEETSDE-ANE 5 2 3
. EERES SR SEEE (RH%) -1 0 -1
| g | EE &S BIRT RAETE 6, 466, 000 25,591,210 -19, 125, 210
H-C2ARSBHEA DB 0 0
ZOfDIERIIESE 928, 571 286, 279 642, 292
1ERIZEFAEt (9) 7,394,575 25,871, 491 —18, 482,916
RRIBRER (10) = (8) — (9) 616, 645 1,187,310 570, 665
LEEENERESE (11) = (7) + (10) 66, 603, 375 117, 152, 7158 50, 549, 383
« B ESIERE (1 2) 2,088,431, 049 2, 043,506, 291 44,924, 758
o [UAREBMEBIEHAR (13) = (11) + (12) 2, 155, 034, 424 2, 160, 659, 049 5, 624, 625
s |[EASHEEASE (14) 0 0 0
: [zoftomET£ERERE (15) 30, 000, 000 37,772, 000 —7,772, 000
" [zoftomEsr£ETEE (16) 135, 400, 000 110, 000, 000 25,400, 000
° [ REpsgMEENE AR (17) = (13) + (14) + (15) — (16) 2,049, 634, 424 2,088, 431, 049 —38, 796, 625
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